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CBT Practice test model answers

Cash Management (CMGT)

Practice assessment 3
Section 1

Task 1.1
[image: image2.png](a) How is the cash operating cycle calculated?

Inventory holding period in days plus trade payables payment period in days less rade.
receivables collection period in days

Trade receivables collection period in days less inventory holding period in days less trade
payables payment period in days

Inventory holding period in days plus trade receivables collection period in days less trade
payables payment period in days

Trade receivables collection period in days plus trade payables payment period in days less
inventory holding period n days

Abusiness currently has  cash operafing cycle of 49 days.

(b) Complete the sentence below to identify the impact on the length of the current cash operating cycle f:

-the average inventory holding period decreases by 5 days, and

-the number of days taken to pay trade payables increases by 9 days.

fthe average inventory holding period decreases by 5 days and the number of days taken to pay trade payables

increases by  days, h curentcash operaing cycle of 49 daye wil ~ K

35

days.





Task 1.1, continued
[image: image3.png](c) The following statements relate to over-trading.

Identify whether each of the statements s true or false.

IIncreased levels of inventory

[Rapidly increasing sales volume

|Decreased use of overdraft facilty

IDecreased evels of rade receivables

[Increasing profit margins

KIS]S]





Task 1.2

[image: image4.png](a) Calculate the actual business cash receipts and cash payments for the year ended 30 June.

[sales receipis 36753
[Purchases payments 191445
[Rent paia 19620
[Motor expenses 15745
[paministative expenses 43884





Task 1.2, continued
[image: image5.png](b) Match each category of receipts or payments on the left with its description on the right by dragging and
dropping the appropriate options.

Receipts that are expected to occur frequently
[Regular receipts

Receipts that are not expected to occur frequenty
[Exceptional receipts

Receipts relating to the disposal of non-current
|Capital receipts assets

Payments that are expected to occur frequenty
[Regutar payments

Payments that are not expected to occur frequently
[Exceptional payments

Payments to the owners of the business
|prawings





Task 1.3
[image: image6.png](a) If the company uses the forecast wage rate index, what will the wage cost for February be, to the.
nearest £2

£13900

£14,208

210743

210862





Task 1.3, continued
[image: image7.png](b) Complete the table below to calculate the monthly sales volume trend and identify any monthly
variations.

You must enter minus signs where appropriate and round to the nearest whole number.

urn

(units) (volume'
[pugust 7233
[september 7,080 6320 750
loctaber 4677 6627 1950
INovember 8124 6924 1200
IDecember 7971

‘The monthly sales volume trend is [297 units.





[image: image8.png](c) Using the trend and the monthly variations identified in (b), complete the table below to forecast the sales
volume, sales value and purchase value for January of the next financial year.

banuary 7518 -1950 5568 83520 33408





Task 1.4

[image: image9.png]Complete the extract below of the receipts section of a cash budget for the three months ended March.
You must enter zero where appropriate.

|cash sales 16320 17280| 21600
[November sales 57600 0 0
|December sales 20160 60480 0
banuary sates o| 1e320| 4sv60
[February sales 0 o| 17280
[March sales 0 0 0
[Total sales receipts 04080 | o4080| 87840





Task 1.5

[image: image10.png]Prepare an extract of the payments section of the cash budget for the three months ended June. Enter
zeros where appropriate but do not use minus signs or brackets.

lPurchases 42532 42483 43820
|Wages 11080 11214 11508
[Expenses 2360 23520 23532|
INew machine o 49000 9
ol payments 7725 127197 78950





Task 1.6

[image: image11.png]Round to the nearest whole £ throughout.

[cash sales 1.200 1,000 800
loredit sales 40,000 38.000) 42000
|Loan rom partners 20000 o o
[Total receipts 61200 39.000) 42500
lpavmenTs

lPurchases 12200 11800 14,000
[wages 5,000 7,000 7,000
[otner expenses 5200 5200 5400
[pavertsing campaign o 8000 8000
[overaratinterest 0 o o
[VAT payment 4030 o o
[Total payments 27490 32000 34400
INet cash low 33710 7000 ‘8400
[opening bank balance 5000 2710 3710
[Closing bank balance 27710 34710 3110





Section 2
Task 2.1
[image: image12.png](a) Prepare a revised payments schedule to take account of the changes outlined above. Do not use
‘minus figures.

lPayments
lPurchases 24700 23040 25365 26220
loter producton expenses 12416 13104 13684 14352
|Wages and sataries 7000 6720 7298 5601
IRent 6000 6400 5400 5400
[Total payments 51116 50164 52047 53873

(b) Complete the sentence below to explain the effect of the additional information on the original cash

budget.

‘The effect of the changes to payments is to

crease Jff] the netcashflowby£ [1530





Task 2.2

[image: image13.png](a) Complete the reconciliation between budgeted and actual cash flows by dragging and dropping entries into the
reconciliation statement.

|Budgeted closing bank balance (6700)
[Variances:

[Receipts from trade recsivables 1520
|cash sales (290)
[Payments to trade payables 80
|cash purchases (500)
[Production expenses 600
|Labour costs (330)
|ceneral expenses (190)
|Capital expenditure (1,200)
|actual closing bank balance @010)





Task 2.2, continued
[image: image14.png](b) Which corrective action could be taken when sales volume is lower than expected?
(i) Offer discounts for prompt payment.
(@) Reduce the selling price.
(i) Increase advertising.
(W) Improve credit control.

Options () and (i)

Options (i) and

Options () and (V)

Options (i) and (iv)





Task 2.2, continued
[image: image15.png]{c) Which corrective action could be taken when customers are taking longer payment terms?
(i) Offer discounts for prompt payment.
(@) Reduce the selling price.
(i) Increase advertising.
(W) Improve credit control.

‘Options () and (i)

Options (i) and (i

Options () and (i)

Options () and (W)





Task 2.2, continued
[image: image16.png](d) Which corrective action could be taken when payments are being made earlier than required?
(i) Offer discounts for prompt payment.
(i) Change suppliers.
i) Negotiate longer payment terms.
(W) Improve credit control.

Options () and (W)

Options (i) and (i)

‘Option (i)

Option ()





Task 2.2 ,continued
[image: image17.png](e) Which corrective action could be taken when labour costs are rising?
(i) Reduce overtime working.
(i) Increase wage rate per hour.
(i) Improve staff training.
(W) Improve health and safety.

‘Options () and (i)

Options (i) and (i

‘Options i) and (v)

Options () and (i)






Task 2.3
[image: image18.png](a) Which of the following best describes the main features of a bank loan?

Interest rates are high itis available for as long as required; tis a long-term form of finance.

Interest rates are high itis repayable on demand; tis a shortterm form of finance.

Interest rates are high; repayments can be negoiated; tis a shortterm form of finance.

Interest rates are low, itis payable on demand; itis useful for capital purchases.

Interest rates are low; itis available for as long as required; tis useful for capital purchases.

Interest rates are low; repayments can be negofiated; tis usefulfor capital purchases.





Task 2.3, continued
[image: image19.png](b) Which of the following best describes the main features of a bank overdraft?

Interest rates are high; itis available for as long as required; itis a long-term form of finance.

Interest rates are high; itis repayable on demand; tis a shortterm form of finance.

Interest rates are high; repayments can be negoiated; tis a shortterm form of finance.

Interest rates are low; itis payable on demand; tis useful for capital purchases,

Interest rates are low; itis available for as long s required; itis useful for capital purchases.

Interest rates are low; repayments can be negotiated; it s useful for capital purchases.





Task 2.3, continued
[image: image20.png]{c) Complete the sentences below by dragging an option into the drop zone.

loans and overdras
When a bank grants italsoissues a bankfacilty letter that sets out

Tegal Dank and cust
the 08 fights and duties oftne | °21 2N Customer

bank and customer

‘The purpose of a facilty letter is to protect the rights of the

Options:

customer ‘abankloan arat ‘2 bank overaraft customer

bank

possible illegal bank





Task 2.4

[image: image21.png]Answer the following by completing the gap fills and selecting from the picklists.

[The option with the lowest annual costis

[The maximum overdrawn balance during the year is £ [12100
[The cost of arranging and using a bank overdraftfor the vear, based on the

fforecast information, is R
[Ithe company opts for a bank overdraft the bank balance atthe end of

|December will be s |87
[The annual cost of the shortterm bank loan being offered is = |760
[The annual interest rate percentage of the shortterm bank loan, to 2 decimal

places, is 508
[fthe company opts for the bankloan, the balance at the end of Decemberwill be £ | 2380

[The option resutting in the lowest bank balance atthe end of December is





Task 2.5

[image: image22.png](a) Drag and drop entries to complete the following sentence:

Government securiies are also known as | 9itedged | | securities and can

Interest rates are

be traded.

fxed

‘andthese types of securities are consideredto be

because they

are

backed by the government.

Tow risk.





[image: image23.png](b) Drag and drop entries to complete the following sentence:

Certiicates of deposit are certicates issusd by

banks

money has been deposited and will be repaid at a

be traded on a market. They are considered o be a

specific

Tow risk.

that certfythat an amount of

date in the future. They

can

investment.





[image: image24.png](c) Drag and drop entries to complete the following sentence:

Local authority shortterm loans are certiicates issued by

authorities

and backed

by the goverment They can be traded on a market. They are considered o be a

investment.

Tow risk.





Task 2.6
[image: image25.png]Identify which of the investment options are appropriate in each of the situations described, by selecting from
the pickists.

|A partnership has £50,000 to invest.

[Options 1, 2and 3

|A company has £70,000 and wishes to invest all of this into two difierent options.

[Options 2.and 3 d

|An investing organisation requires a low risk investment.

[Options 1and 3 d

|A quaranteed nterest rate of 2.5% s required.

[option 1 d

[The notice period for an investment must not exceed 45 days.

[Options 1and 3 d

[The investment selected must not include shares.

[Options 1and 3 d
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